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W)t TAE H Py 98 8|6 [2]2 2 30121616 8]2]2 4 3 5|2 2

M)t TAE (B 5 & 10 H WY 8 8

M)t TAE (M5 & 150 | 8 8

BEHARS T H|pg| 30 41 3|2 2 0 3| 2] 2 21412

WA TR (H L) B 5 5

BYy B BOR 5 TR (M7 % 50 Wy 5 5

TR H|py| 68 2141 4 2 32 21418 2 41 3

M TR (B & 1) | 6 6

M TAE (W75 % 100 W 6 6

SHEKERE S TR H|py| 64 21616 2 2 22 1212 41| 4 2 | 4 212

KR TR (B & 1) Wy 6 6

SHEKR S TR (5 & 550 H | 6 6

IKICEKBEIR TR | py| 57 6 | 4 2 2 19 21 4] 5 21 3|62

KK BEIR TR (B % 150 W 7 7

ARICE KB AR (5 % 00) | 8

WTFRREES TR Mg { 32 316 14 2| 3 2

R KRN TR (E & 550 M A 2 2

R KRR TR Qs 750 N[ 4

PR Hpgl 99 8 | 8 2 2 32 3] 4| 8] 8] 2 3 41 5|2 2

PRUEWE(EE S Y 5 5

KA LAE (W75 % 10 H|pg| 10 10

AT Py 261 [ 4] 4| 8|10 2 8 144121 8] 8 |10 416|6 6| 812 4

Sk T (HXE ) s | py| s 5

24 LR (75 10) H|pg| 10 10

AT LR Hlpg| 72 | 4 416 2 4 28 41 4|2 41 2 4

B TR PO 72 21416 2 22 |31 4| 4] 6 2141| 2 6 | 2

AT 1 | pu 370 | 2 9 ] 10 2 4 262186422452 4] 4 214 2

AT (F X E D) H|p| 4 4
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AR TR (77 F10) | g 6 6

HHIEE 5 REIE R H T | pg| 62 4 22 41 2 6 2

BESINE 5 RRIE N TR (E 1) || 4 4

BRI 5 RRIR N AR (M5 & 150 g 6 6

I T R 2 ) TR Pyl 76 2 41 41 2 6 2

W H| | 40 36

AT el | pg | 40 4 30 2

HheRiE | py 72 3 46 41 2 2

TR | pgl 72 4 41 42

TR M pg| 76 65 21 2

HUR il i 2 H A Bk | py 418 6 2| 376 41 2 4 | 2 2

Tolk it | pg| 40 28 2

AR A% SR T | pg| 66 4 23 413 212 2

T FREE A% S TR (E KL 1) g 2 2

TR e A S5 ) TR (o 4 130) Py 4 4

T | pg| 80 76

MIEEAR S5 | pg| 66 4 27 41 2 512 3

MIEEA 54 (H K L1350 g 2 2

M H AR 5408 (b7 £ 10) ] 4 4

B - TR Pyl 76 2 62

WUbR 7 TR CRAMEIET D | 40 4 4 8 41 4

B TREAE AL B Py | 228 2 2| 208 2| 2 2

HF{E R LR | pg| 114 2 21 93 4 3

JifE TR | pg| 114 2 2| 88 2 3

H 3k # | py 228 2 2] 188 21 3 3 2

ToALAES @A R TR | py 98 4 37 416 512 2

FTALAEE EAARL TR (%K% 150) Py 8 8

FTALAES BA R TR (7 % 150) B | 8 8

wor A RS TR | pg | 98 6 41 36 6 | 6 2

B> AT RS TR (B 5L T0) B | 6 6

B> AT RS TR (5 4 10) [ pg] 10 10

HEMES TR | pg| 58 4 20 41 2 2 2

HAEMES T (ExR L) B | 6 6

HEMRS THE (b7 £ 10) g 8 8

W T TH% | pg | 52 4 4 41 4 212 2 3
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- 4hn T A2 (%% 10 |l pg| 10 10
WPy TR (7 % 350) | pg| 10 10

PRS2 5 TR #pg)] 30 2 0 6 2
PRI R 5 TR (K £ 10) ] 4 4
PRGBS 5 TR (o7 £ 30) ] 4 4
AL | pg| 66 4 27 4 4 2
L Ak 2 (] 5K 4 350) g 5
R (b 7 L T0) g 5
WETHSTE o pg | 92 6 28 6 41212]|2
2 TRE T (EKEm) | Py 6 6
WETRETE G E5) H|pg| 10 10
2 TR 1| 64 6 24 4 2 2
1125 TH%2 (B 1) EL Y| 3
il 25 A% (M5 £ 1) Py 5
RETRALZE TR | pg| 60 6 20 6 2 2
ARG TR (B 5L 1) EL LY 5 5
ARG T A% (Hh 75 100) g 7 7
B TR SBIERAR | py 228 8 155 4 6 | 4 4
FEF BRI R AR 5 T | pg| 30 4 2 2
FERh BRI AR S TR (E %5 10) g 3
R BRI AR S TR (7 5 150 | Py 3
THENUR: SR 7| py| 228 4 2| 205 2 2 2
BERz4e # | py 76 2 2| 60 2 2
I TR Pyl 76 2 2| 62 3 2
HES ILENTES 7N | pg | 40 2 21 30 2 2 2
AT HIPH|[ 114 108 2
JeHEfE AR S TR Py 72 2 2| 50 3 2
FHAE EAE S TR (E R L) g 2 2
JaHfE SRS TR (o £ 10) g 2 2
NP3 2 |y 34 3 23 2
LA ER A (B 25 1) Py 2 2
P EE 2E (M5 & 10 | 4 4
TS | pg| 70 4 28 4 2 |2 2
THE % (EFE ) EL Y| 2 2
TR (M5 £ I0) | 4 4
Kt 5 BB | pg| 40 2 32 2
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= SRR | py| 76 3 48 212123222 2]2 2
G2 | py| 40 2 2 28 | 2

e S AOP N CTE N PG| 114 2 108 2 2

Hiih < | pg| 50 8 42

B m | pu [ 100 6 2 3 21 69 2| 2 302 2

HiE < | pu| 30 2 4| 20 2 2

I PR B 2 7 | F | 304 4] 2 2 | 3| 252 21 4] 4 41 2 21 2 11
g7 E | 7] 30 2 2 4141 0 |2 2| 2 2 2 2

T 2 ([ 5 % 5) M lpy| 3 3

T 2 (7 % 750) mpy| 3 3

sz | py| 66 2166 f2]2]2 4141 0 |2 6 | 522 2 61227
22 (K T0) | py| 2 2

2525 (M )5 00) mlpy| 4 4

BE AN I A | py| 30 3 21 o 212142 2121212 2
BE A I B (B 5K 4 350) Py 3 3

5 24 R B A (5% 750) Lpg] 3 3

Al Ed | py| 36 3 41 3 0 315 2
Vi 5 PR 2R 2 | py| 28 2 0 2 4 4 412

VHIE SR B B2 (E R £ 000) #py| 4 4

VR SRR B (W7 BT lpy] 4 4

S | py| 80 3 2| 73 2

EEENSEE RS | py| 36 4| 4 22 2 2
T8 | py| 52 415 2 28 | 2 4 2|2 3

T8 < | py| 20 20

NI | py| 50 513 2 30 | 2 4 2|2

NI | pu| 26 26

TR 4% lpy| 72 | 2 6 2 2 34 | 2 2 | 4 4 4 2
A 45 s 3 | py| 50 2 46

A 45 s 3 < | py| 26 26

Sit2 F| PO | 80 76

Mizs T | py| 84 8 21213 32212174 2 242264 3]2]2
Mizs TR (5K £ 75) | py| 15 15

Mizs T (7 % 750) | py| 15 15

BRI SHA | py| 51 4| 2 2121 0 616|622 2143222
PR SHA (%K L 0) F{pg] 15 15

REERRL S SHAR (W7 % 30) | py| 10 10
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S TR B py| 52 16 21 2
S TR (B 5L gy | 12 12

S5 T (77 5 150 g | 12 12

MO % S8 2 | Y| 34 12

HER £ R 2 (H 55 90 Al pg| 2 2

MR (5 RHSE () 5 150) | py| 4 4

B 3 ST e g 30 18 2
Boag ST (F 5550 | 3

BOf ¥ ST Q&30 | 3

TR < | py| 30 18 2
e TAE (EK T | 3

AT Gl | 3

i 2| pg| 30 30

644 15 B 1 # | py| 80 72

I 4% 15 7 14 1 || 40 40

Bl A TR # || 76 60

ERERNE S AR || 76 66

AT w76 70
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